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2. a)  2,  1    b)  5,  5    c)  1,  5   

 d)  3,  1   e)  7,  5    f)  6,  6   

 g)  1.5,  4.25   h)  1,  4   i)  0,  3  
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4. 

 

 Unknowns System of Equations Solution 

a) :  length of rectangle

:  width of rectangle

x
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3

2 2 98

x y
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12.25
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length cm

width cm


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b) :  number of chickens

:  number of sheep

x

y
 

225

2 4 774

x y

x y

 

 
 

63 chickens

162 sheep
 

c) :  number of men

:  number of women

x

y
 

300

3

x y

x y
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
 

225 men

75 women
 


